Ch1_2e_ChapterExamples
Preparation
require(knitr)
#require(haven)
#library(AER)

opts_chunk$set(echo = TRUE)
options(digits = 3)
opts_knit$set(root.dir = 
"C:/Users/baileyma/Dropbox/Bailey_RealStats_RealEconometrics_2e_Supplements_March2021/ChapterExamples_R")

# Remove objects from the previous session
rm(list = ls(all = TRUE))   
CHAPTER 1
Donut example: load the data and create a scatterplot.
## Load data; data saved as object named "dta"
load("Ch1_ChapterExample_Donuts.RData")
offsetX = c(2., 1.8, 1.4, 1.4, 1.8, 2.7, 2.3, 3.5, 2.2, 3.3, 3.4, 1.6, 1.8)/1.6         # nchar(name)
offsetY = c(2.5, 2.5, 2.8, 2.5, -8.2, 2.6, rep(2.5, 3), 2.5, 1, 2.5, 2)             
name2       = c(    "Homer", "Marge", "Lisa", "Bart", "Comic\nBook\nGuy", "Mr. Burns", "Smithers",
             "Chief Wiggum", " Principal\nSkinner", "Rev. Lovejoy", "Ned Flanders", "Patty", "Selma")

par(mfrow=c(1, 1), mar=c(4.0,4.4,2.,2.), oma=c(0.2,1,2.,0.3))   
plot (c(donuts, 20), c(weight,50), xlab = "", ylab = "", main="", type="n", cex.axis=0.9, 
      cex.lab=0.9, xlim= c(0, 22), xaxt="n", yaxt="n")
abline(v = 0, col="grey", lwd=0.5) # add vertical line at 0
points(donuts, weight, pch=16, col="#3c78c3")
text(donuts +offsetX, weight+offsetY, name2, cex = 0.65, col="#3c78c3")
mtext("Weight\n(in pounds)", las = 1, side = 3, at = -4, line = -0.2, cex = 1.0)    
mtext("Donuts", side = 1, at = 10, line = 1.5, cex = 1.0)   
axis(2, las = 1, tick = T, cex.axis = .75, mgp = c(2,.7,0), at = seq(50, 300, by=50), 
     labels =  seq(50, 300, by=50))
axis(1, at = seq(0, 20, by=5), labels = seq(0, 20, by=5), tick = T, 
     cex.axis = .75, mgp = c(2,.4,0))
## Add fitted line
SimpsonsFitLine = lm(weight~ donuts)
abline(SimpsonsFitLine , lwd=1.8, col = "#3c78c3" )
[image: Ch1_2e_ChapterExamples_files/figure-docx/unnamed-chunk-1-1.png]
Correlation figure: show examples of postive, negative and no correlation
NN      = 200
x1      = runif(NN)
x2.temp     = runif(NN)
Corr1       = 0.70
Corr2       = -0.70

x2      = 0.95*(x1*Corr1 + x2.temp*sqrt(1-Corr1^2))-0.1
x3      = x2.temp*1.2
x4      = x1*Corr2 + x2.temp*sqrt(1-Corr2^2) + 0.6
cor(cbind(x1, x2, x3, x4))
##          x1      x2      x3      x4
## x1  1.00000  0.7181 0.00342 -0.7158
## x2  0.71812  1.0000 0.69837 -0.0281
## x3  0.00342  0.6984 1.00000  0.6958
## x4 -0.71580 -0.0281 0.69585  1.0000
par(mfrow=c(1,3), mar=c(2.5, 2.5,  2.5,  1.5), oma=c(4, 2, 5,  0.3))        # mar(south, west, north, east)
plot (x1, x2, ylim = c(-0.02, 1.25), xaxt='n',  yaxt='n', ylab="", cex.main=0.95, col= "#3c78c3", pch = 19)  #main="Panel A:\n Positive correlation",
axis(1, at=seq(0, 1, by=0.2),   labels=seq(0, 1, by=0.2), cex.axis=0.9, padj=-1.0)
axis(2, las = 1, at=seq(0, 1.2, by=0.2),    labels=seq(0, 1.2, by=0.2), tick = T, 
     cex.axis = .8, mgp = c(2,.7,0))
text(0.28, 0.87, "Positive correlation", srt = 52)
mtext("Error\nterm", las = 1, side = 3, at = -0.31, line = -2.2, cex = 0.7) 
mtext("Independent variable",   side = 1, line = 2.1, cex=0.7)
mtext("(a)",    side = 1, line = 3.1, cex=0.7)
plot (x1, x3, ylim = c(-0.02, 1.25), xaxt='n',  yaxt='n', col= "#3c78c3", pch = 19, cex.main=0.95) #
axis(1, at=seq(0, 1, by=0.2),   labels=seq(0, 1, by=0.2), cex.axis=0.9, padj=-1.0)
axis(2, las = 1, at=seq(0, 1.2, by=0.2),    labels=seq(0, 1.2, by=0.2), tick = T, 
     cex.axis = .8, mgp = c(2,.7,0))
text(0.5, 1.25, "No correlation")
mtext("Error\nterm", las = 1, side = 3, at = -0.31, line = -2.2, cex = 0.7) 
mtext("Independent variable",   side = 1, line = 2.1, cex=0.7)
mtext("(b)",    side = 1, line = 3.1, cex=0.7)
plot (x1, x4, ylim = c(-0.02, 1.25), xaxt='n',  yaxt='n', col= "#3c78c3", pch = 19, cex.main=0.95) # main="Panel C:\n Negative correlation"
axis(1, at=seq(0, 1, by=0.2),   labels=seq(0, 1, by=0.2), cex.axis=0.9, padj=-1.0)
axis(2, las = 1, at=seq(0, 1.2, by=0.2),    labels=seq(0, 1.2, by=0.2), tick = T, 
     cex.axis = .8, mgp = c(2,.7,0))
text(0.75, 0.87, "Negative correlation", srt = -52)
mtext("Error\nterm", las = 1, side = 3, at = -0.31, line = -2.2, cex = 0.7) 
mtext("Independent variable",   side = 1, line = 2.1, cex=0.7)
mtext("(c)",    side = 1, line = 3.1, cex=0.7)
[image: Ch1_2e_ChapterExamples_files/figure-docx/unnamed-chunk-2-1.png]
rId21.png
Weight
(in pounds)

150

100

et wiggum

vincipal
inner
§e Loy,

e
prtiee

BB g

T T T T T
0 5 10 15 20




rId23.png




